## RESOLUTION NO. \_\_62-03 CITY OF CENTERVILLE, OHIO

SPONSORE	D BY COUNCIL	MEMBER Dame	E, Singer	ON THE 17th
DAY OF	Tovember	, 2003/.		

A RESOLUTION ACCEPTING THE BID SUBMITTED BY FLORA EXCAVATING FOR YANKEE TRACE IMPROVEMENTS, SOCIAL ROW ROAD WIDENING 2003, IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for Yankee Trace Improvements, Social Row Road Widening 2003, according to specifications prepared by the City, and

WHEREAS, Flora Excavating was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Flora Excavating, marked as Exhibit "A" attached hereto and made a part hereof is hereby accepted in the total bid amount of \$172,908.50 contingent upon the City Manager's determination that all necessary project funding is in place and that the City Manager be authorized to expend up to approximately 5% or \$10,000.00 additional if extra work becomes necessary. The City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That this Resolution become effective immediately upon passage.

PASSED this 17th day of November , 2003.

Mayor of the City of Centerville, Ohio

ATTEST:  Clerk of Council, City of Centerville, C	<u>Phio</u>
<u>C</u> 1	<u>ERTIFICATE</u>
	ouncil of the City of Centerville, Ohio hereby correct copy of Resolution Number <u>62-03</u> enterville, Ohio on the <u>17th</u> day of
	Clerk of Council
Approved as to form, consistency with the Charter and Constitutional Pro Department of Law Robert N. Farquhar Municipal Attorney	visions.

Exhibit "A"

### REVISED -November 11, 2003

### BID SHEET 1 OF 3

#### BIDDERS PROPOSAL

YANKEE TRACE IMPROVEMENTS SOCIAL ROW ROAD WIDENING 2003

Submitted by:	Flora	Excavating,	Div.	of	Richland	Gardens,	Inc.	
odominod oy.		Flora Excavating, Div. of Richland Gardens, Inc. (NAME OF CONTRACTOR)						

Having read the specifications and examined the drawings included herein:

Yankee Trace Improvements, Social Row Road Widening 2003 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda is ued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

#### A. STATEMENT BY ALL BIDDERS:

The receipt of the following Addenda to the Contract Document (drawings and specifications) is nereafter acknowledged.

Addenda No. 1	Date	11/11	/2003
Addenda No.	Date		

#### B. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

TTEM	DESCRIPTION	DUANTITY	UNIT	PRICE	COST
PAVEN	MENT				
203	Excavation	400	CY	\$7.50	\$3,000.00
203	Embankment	350	CY	\$7.50	
203	Subgrade Compaction	2860	SY	\$1.55	\$4,433.00
203	Proof Rolling	2	HR	\$150.00	\$300.00
404	1.5" Asphalt Concrete, Type I, Surface Course PG 64-22	91	CY	\$92.40	\$8,408.40
402	1.5" Asphalt Concrete, Type 2, intermediate Course PG 64-22	91	CY	\$83.60	\$7,607.60
301	6" Bituminous Aggregate Base, PG 64-22	364	CY	\$81.40	\$29,629.60
304	6" Aggregate Base (Crushed Limestone)	387	CY	\$25.50	\$9,868.50
407	Tack Coat	300	Gal	\$2.20	\$660.00
Spec	Grind Butt Joint	28	LF	\$26.60	\$744.80
413	Saw Cut Existing Pavement	877	LF	\$1.30	\$1,140.10
609	ODOT Type 6 Curb	877	LF	\$9.90	\$8,682.30

# REVISED -November 11, 2003

BID SHEET	2	0	F	3
-----------	---	---	---	---

TTEM	DESCRIPTION		QUANTITY	UNIT	PRICE	COST
	MENT CONT'D					
605	Unclassified Underda		877	LP	\$7.60	\$6,665.
608	Hiker Biker Path - (4 (1" - 404 Asphait Su	" - 301 Asphalt Base) face)	4800	SF	\$1.75	\$8,400
				Pave	ment Sub-Total	\$92,164
STOR	M					4
603	15"Storm Sewer (RC	P Class 5)	296	LF		
603	18" Storm Sewer (RC			****	\$31,10	
603			199	LF	\$34.00	\$6,766.
- 575	21" Storm Sewer (RC		463	LF	\$37.70	
603	24" Storm Sewer (RC		17	LF	\$53.60	\$911.
604	CB-3A Catch Basin (		5	Each	\$1,187.00	\$5,935.
604	CB 2-2A Catch Basin		1	Each	\$1,099.00	\$1,099.
604	Storm Manhole (Type	3)	2	Each	\$1,653.00	\$3,306.
					Storm Sub Total	\$44,677.
CONT	INGENCY					
203	Undercut		200	CY	\$8.50	\$1,700.
304	8" Aggregate Base (C	rushed Limestone)	100	CY	\$25.50	\$2,550.
703	Aggregate #2 Stone		100	CY	\$32.50	\$3,250.
Spec	Tensar Base Reinford		400	SY	\$5.84	\$2,336.
	(SS-2 or Approved E	qual)		Continue	ency Lump Sum	
				Contracte	incy Lump Sum	\$9,836.
	ELLANEOUS	(0.00				
201	Clearing & Grubbing		1	LS	\$4,800.00	\$4,800.
202	Remove Existing 24"		97	LF	\$23.30	\$2,260.
202	Remove Existing CB	2-3	1	Each	\$990.00	\$990.
207	Straw or Hay Bales		20	Each	\$7.00	\$140.
207	Silt Fence		1000	LF	\$1.00	\$1,000.
614	Maintaining Traffic		1	LS	\$3,000.00	\$3,000.
623	Construction Lay-Out	Staking	1	LS	\$6,380.00	\$6,380.
624	Mobilization		1	ĹS	\$2,500.00	\$2,500.
642	Edgeline (4" White)		1000	LF	\$0.60	\$600.
642	Centerline (4" Double	Yellow)	900	LF	\$1.20	\$1,080.
642	Lane Line (4" White)		800	LF	\$0.60	\$480.
					7	التنشنسي

# REVISED -November 11, 2003

Federal Tax LD. Number: 31-1506881

## BID SHEET 3 OF 3

659	Seeding & Mulching	1	500	SY	\$2.00	\$3,0
				Miscellane	ous Sub-Total	\$26,2
				TOTAL ESTIN	MATED COST	\$172,9
NOTE		undercutting is bidding pur tual field measurements.	oses o	only. Actual quant	ity to be paid for	
C.		reflected above represents a 300 per day will be deducted				
D.	THIS PROPOSAL ST	proposal shall result in rej			dens, Inc.	
	BY: Jdwa (SIGNATUR)	(NAME OF CO E OF CONTRACTOR OR Flora	NTR/ AUTI	ACTOR) HORIZED REPRI		
	DATE: Novembe	r 12, 2003	EDN	(AME)		
	person for Contact pro address: 6914 U		lora			
City, St	ate, Zip: Greenv	ille, Ohio 4533	1			
Telepho	one Number: (937)	548-5303	_ Fa	x Number. (93	7) 547-940	6